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</month_local_ta> 270E XY 7| MY Ef S E
<month_local_ta> 70 XY 7| M e Ef AR
<month3_local_ta_normalYear>12.6</month3_|local_ta_normalYear> IE XY 7|2 WA
<month3_local_ta_similarRange>+0.4</month3_|local_ta_similarRange> I7E X9 7|2 HEH|=HeY
<month3_local_ta_minVal>20</month3_local_ta_minVal> IE XY 7|12 OB EE(RS)
<month3_local_ta_similarVal>30</month3_local_ta_similarVal> 74E XY 7|2 Ol EHEH|=x)
<month3_local_ta_maxVal>50</month3_local_ta_maxVal> e XY 7|12 o HEE2)
</month_local_ta> 70e XY 7| eda |l as2

</local_ta> J2dY X9 AT
<local_ta> 7|20 XA B AIE
<local_ta_name> <![CDATA[ H|F % ]]></local_ta_name> JledMy X9 g
<month_local_ta> DHE XY 7| 278Y Ef A=
<monthl_local_ta_normalYear>7.1</month1_local_ta_normalYear> NE XY 7|2 gt
<month1_local_ta_similarRange>+0.6</month1_local_ta_similarRange> HE XY 7|2 WEH|=HQ|
<monthl_local_ta_minVal>20</month1_|local_ta_minVal> e X9 7|2 o2 SHERS)
<month1_local_ta_similarVal>40</month1_|local_ta_similarVal> 7HE X9 7|2 o2 EEH|=x)
<monthl_local_ta_maxVal>40</month1_local_ta_maxVal> e X9 7|2 o2 EHE(=])




</month_local_ta> VUi XY 7|2dY O3 =
<month_local_ta> 270 X9 7|2 Ef A=
<month2_local_ta_normalYear>10.0</month2_local_ta_normalYear> 270E XY 7| HEHZ
<month2_local_ta_similarRange>+0.4</month2_|local_ta_similarRange> 270E XY 7|2 WEd|=He
<month2_local_ta_minVal>20</month2_|local_ta_minVal> 270 XY 7|12 o& EE (RS
<month2_local_ta_similarVal>30</month2_local_ta_similarVal> 270E X9 7|2 o g =EH|D)
<month2_local_ta_maxVal>50</month2_local_ta_maxVal> 21E XY 7|2 o2 EHEES)
</month_local_ta> 270 XY 7|2FY AT
<month_local_ta> 70 XY 7| M e Ef AR}
<month3_local_ta_normalYear>14.3</month3_local_ta_normalYear> INE XY 7|12 WAt
<month3_local_ta_similarRange>+0.4</month3_|ocal_ta_similarRange> I7ME X9 7|2 WHH|=H
<month3_local_ta_minVal>20</month3_|local_ta_minVal> VN XY 7| OB SHERS)
<month3_local_ta_similarVal>30</month3_local_ta_similarVal> 37 XY 7|12 o =EH|=)
<month3_local_ta_maxVal>50</month3_local_ta_maxVal> IME XY 7|12 o2 &SHE(ES)
</month_local_ta> 70 XY 7|2dY A=
</local_ta> 7 2¥Y X9 AT E
<local_ta> 7| 2™ XS Ef AR
<local_ta_name> <![CDATA[ TOtLt= = . &8} = > </local_ta_name> 7|2 e X9 ¥
<month_local_ta> DN XY 7|23 Ef A=
<monthl_local_ta_normalYear>-3.8</month1_local_ta_normalYear> N XY 7| Wt
<month1_local_ta_similarRange>+0.8</month1_|local_ta_similarRange> g X9 7|2 WEdH|=HeY
<monthl_local_ta_minVal>20</month1_|local_ta_minVal> HE X9 7|2 O & &HE(RS)
<month1_local_ta_similarVal>50</month1_|local_ta_similarVal> 7HE X9 7|2 0|2 =EH|=x)
<monthl_local_ta_maxVal>30</month1_local_ta_maxVal> e X9 7|2 O & &HE(=S)
</month_local_ta> Ui XY 7|2dY O3 =
<month_local_ta> 270E XY 7|23 A Ef AR
<month2_local_ta_normalYear>2.4</month2_local_ta_normalYear> 270E XY 7| HiHZr
<month2_local_ta_similarRange>+0.6</month2_local_ta_similarRange> 270E XY 7|2 Hud|=He
<month2_local_ta_minVal>20</month2_|local_ta_minVal> 270 XY 7|2 o= SER)
<month2_local_ta_similarVal>50</month2_|local_ta_similarVal> 270 XY 7|2 o5 ZEH|X)
<month2_local_ta_maxVal>30</month2_local_ta_maxVal> 270 XY 7|12 o= EE(E2)
</month_local_ta> 270E X9 7|2y AT =
<month_local_ta> 370 XY 7|27 Ef A=
<month3_local_ta_normalYear>9.8</month3_local_ta_normalYear> IE XY 7|2 WA
<month3_local_ta_similarRange>+0.6</month3_local_ta_similarRange> I7E X9 7|2 HEH|=HE
<month3_local_ta_minVal>20</month3_|local_ta_minVal> e XY 7|2 & EHERS)
<month3_local_ta_similarVal>40</month3_local_ta_similarVal> 74E XY 7|2 Ol EHEH|=x)
<month3_local_ta_maxVal>40</month3_local_ta_maxVal> e XY 7|2 & EHE(=S)
</month_local_ta> 70E XY 7| 2dY A=
</local_ta> 22U X9 AT =
<local_ta> 7|20 XA B AIE
<local_ta_name> <![CDATA[ &4 HE & ]]></local_ta_name> 2™y X9 o
<month_local_ta> DHE XY 7| 278Y EfOAIZ
<monthl_local_ta_normalYear>-2.7</month1_local_ta_normalYear> NE XY 7|2 gt
<month1_local_ta_similarRange>+0.6</month1_local_ta_similarRange> HE X9 7|2 HUEH|=|/
<monthl_local_ta_minVal>20</month1_|local_ta_minVal> HE X9 7|2 o2 SHEHEES
<month1_local_ta_similarVal>50</month1_|local_ta_similarVal> HE X9 7|2 ol EEH|=
<monthl_local_ta_maxVal>30</monthl_local_ta_maxVal> e X9 7|2 ol EHE(ES
</month_local_ta> UHE XY 7| 28Y Bl OF =
<month_local_ta> 2708 XY 7|2 Ef AR




<month2_local_ta_normalYear>2.1</month2_local_ta_normalYear>

EE W
<month2_local_ta_similarRange> +0.5</month2_local_ta_similarRange> 270€ XY 7|2 HEFH|=HQ
<month2_local_ta_minVal>20</month2_local_ta_minVal> 270E X9 7|2 o SEHS)
<month2_local_ta_similarVal>50</month2_local_ta_similarVal> 270E X9 7|2 o g =EH|R)
<month2_local_ta_maxVal>30</month2_local_ta_maxVal> 270E X9 7|2 o e SEED)
</month_local_ta> 270E XY 7| XY s
<month_local_ta> 70 XY 7| Mg Ef AR}
<month3_local_ta_normalYear>8.3</month3_local_ta_normalYear> N XY 7| Wt
<month3_local_ta_similarRange>+0.6</month3_local_ta_similarRange> MY XY 7|2 WEHH| =
<month3_local_ta_minVal>20</month3_|local_ta_minVal> N XY 7| OB SHERS)
<month3_local_ta_similarVal>40</month3_local_ta_similarVal> 37 XY 7|12 o =EH|=x)
<month3_local_ta_maxVal>40</month3_local_ta_maxVal> e XY 7|12 o R EE(E2)
</month_local_ta> 4 XY 7| M EjlasE
</local_ta> Jledy X|Y Eja=

</threemonth_ta_forecast>

<threemonth_rn_forecast> Ao 37 24 MY Ef AR
<local_rn> ZY X9 EfIA|E
<local_rn_name> <![CDATA[ M 2N F &, £38tH 2|) 11> </local_rn_name> 2o X9 9
<month_local_rn> DY XY Z=Y Ef A=
<monthl_local_rn_normalYear>35.5</month1_local_rn_normalYear> N XY 24 WAt
<month1_local_rn_similarRange>+20</month1_local_rn_similarRange> HE XY 24 HWEH|=HY
<monthl_local_rn_minVal>40</month1_local_rn_minVal> e X9 24 o2 =2EEFS)
<monthl_local_rn_similarVal>40</month1_local_rn_similarVal> 7HE X9 Z4 o2 =EH=x)
<monthl_local_rn_maxVal>20</month1_local_rn_maxVal> HE X9 24 o2 =E(EHe)
</month_local_rn> U XY Z+dY O3 =
<month_local_rn> 270 e K|S 2= B AR
<month2_local_rn_normalYear>56.4</month2_local_rn_normalYear> 270 XY 2 mEgh
<month2_local_rn_similarRange>+15</month2_local_rn_similarRange> 270E XY 24 HuEd|=we
<month2_local_rn_minVal>40</month2_local_rn_minVal> 270 XY 44 o2 =2HEES)
<month2_local_rn_similarVal>40</month2_local_rn_similarVal> 270 XY 44 o5 ZEH|X)
<month2_local_rn_maxVal>20</month2_local_rn_maxVal> 270 XY 44 o2 =EE2)
</month_local_rn> 270E X9 2Ny AT =
<month_local_rn> IE XY BNy EfOA|E
<month3_local_rn_normalYear>78.5</month3_local_rn_normalYear> 0 XY A4 gt
<month3_local_rn_similarRange>+15</month3_local_rn_similarRange> IME XY 24 HUEH|SH
<month3_local_rn_minVal>20</month3_local_rn_minVal> I4E XY 24 o2 =HEEHE)
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> I74E XY 24 o2 =HEH|R)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> I4E XY 24 o2 EHEES)
</month_local_rn> 7MY XY ZHY A2
</local_rn> ZdY XY A3 E
<local_rn> Y X Ej2AE
<local_rn_name><![CDATA[ A& - QI - A7| % ]]></local_rn_name> e X9 ¥
<month_local_rn> NS XY Z=Y EfIAIZ
<monthl_local_rn_normalYear>22.3</month1_local_rn_normalYear> HE XY 24 gt
<month1_local_rn_similarRange>+25</month1_local_rn_similarRange> HE XY Z HEH|=H e
<monthl_local_rn_minVal>40</month1_local_rn_minVal> HE X9 24 o2 SEEFS)
<month1_local_rn_similarVal>40</month1_local_rn_similarVal> 7HE X9 24 o2 EEH|X)
<month1_local_rn_maxVal>20</month1_local_rn_maxVal> e XY 24 o2 S5 (ES)
</month_local_rn> Uig XY MY Bl 0s=
<month_local_rn> 2708 K| 2= B AR




<month2_local_rn_normalYear>43.8</month2_local_rn_normalYear> 270E XY 24 WEHgE
<month2_local_rn_similarRange>+20</month2_local_rn_similarRange> 270 XY 24 WEd| =Y
<month2_local_rn_minVal>40</month2_local_rn_minVal> 20 XY L= 02 SHEEHI)
<month2_local_rn_similarVal>40</month2_local_rn_similarVal> 270E XY Z4 o2 SEHL)
<month2_local_rn_maxVal>20</month2_local_rn_maxVal> 270E X9 2 o2 SE(HS)
</month_local_rn> 270 X9 ZHY 2T
<month_local_rn> IE XY BNy Ef A=
<month3_local_rn_normalYear>62.6</month3_local_rn_normalYear> INE XY 24 WAt
<month3_local_rn_similarRange> +15</month3_local_rn_similarRange> 70 XY 24 WEH|=H S
<month3_local_rn_minVal>20</month3_local_rn_minVal> 3ME XY L Ol SHEX )
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> IME XY L= OB ZE(H%)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> Y XY 24 o R 2HE(R2)
</month_local_rn> E XY Y OB E
</local_rn> Z+HMA XY a3 R
<local_rn> e XY Ef AR
<local_rn_name> <![CDATA[ Z &&= HA{ 1]></local_rn_name> ZeMa X9 9
<month_local_rn> DY XY ZHY Ef A=
<monthl_local_rn_normalYear>24.1</month1_local_rn_normalYear> HE XY 24 Wt
<month1_local_rn_similarRange>+25</month1_local_rn_similarRange> HE XY 24 HEH|=H
<monthl_local_rn_minVal>40</month1_local_rn_minVal> HE XY 24 o2 =25 EFS)
<month1_local_rn_similarVal>40</month1_local_rn_similarVal> 7HE X9 Z4 o2 =EH[=x)
<monthl_local_rn_maxVal>20</month1_local_rn_maxVal> HE X9 24 o2 =E(EHe)
</month_local_rn> U XY Z+dY O3 =
<month_local_rn> 270 e K|S 2= B AR
<month2_local_rn_normalYear>44.2 </month2_local_rn_normalYear> 270 XY 2 mEgh
<month2_local_rn_similarRange>+20</month2_local_rn_similarRange> 270E XY Z4 Hud|=we
<month2_local_rn_minVal>40</month2_local_rn_minVal> 270 XY A4 oe 2HEES)
<month2_local_rn_similarVal>40</month2_local_rn_similarVal> 270 XY 44 o5 ZEH|X)
<month2_local_rn_maxVal>20</month2_local_rn_maxVal> 270 XY 44 o2 =EE2)
</month_local_rn> 270E X|d 2Ny AT =
<month_local_rn> IE XY BNy EfOA|E
<month3_local_rn_normalYear>64.1</month3_local_rn_normalYear> 4 XY A4 gt
<month3_local_rn_similarRange> +15</month3_local_rn_similarRange> IME XY 24 HUEH|SH
<month3_local_rn_minVal>20</month3_local_rn_minVal> I4E XY 24 o2 =HEEHE)
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> 74E XY 24 o2 =HEH|R)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> I4E XY 24 o2 EHEES)
</month_local_rn> 7MY XY ZHY AT =
</local_rn> Z+HA XY a3
<local_rn> e XY Ef AR
<local_rn_name><![CDATA[ Z & X ]]></local_rn_name> pAES PN Re: |
<month_local_rn> NS XY Z=Y EfIAIZ
<monthl_local_rn_normalYear>48.3</month1_local_rn_normalYear> NE XY 24 gt
<month1_local_rn_similarRange>+30</month1_local_rn_similarRange> HE XY 24 Ed| ="
<month1_local_rn_minVal>40</month1_local_rn_minVal> He X9 Z 0B 25 F2)
<month1_local_rn_similarVal>40</month1_local_rn_similarVal> 7HE X9 24 o2 EEH|X)
<month1_local_rn_maxVal>20</month1_local_rn_maxVal> He X9 2 o2 ZE(R2)
</month_local_rn> Uig XY MY Bl0s =
<month_local_rn> 2708 K| 2= B AR
<month2_local_rn_normalYear>62.9</month2_local_rn_normalYear> 2708 XY s HEHGH
<month2_local_rn_similarRange>+25</month2_local_rn_similarRange> 2708 XY Z HEH|=HS




<month2_local_rn_minVal>30</month2_local_rn_minVal>
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a0
<month2_local_rn_similarVal>40</month2_local_rn_similarVal> 270E XY Z4 o2 SEHIL)
<month2_local_rn_maxVal>30</month2_local_rn_maxVal> 270E X9 2 o2 SE(HI)
</month_local_rn> 270 XY ZHY O3 E
<month_local_rn> IE XY BNy Ef A=
<month3_local_rn_normalYear>66.5</month3_local_rn_normalYear> INE XY 24 WAt
<month3_local_rn_similarRange>+20</month3_local_rn_similarRange> I70E XY 24 WEH|=H
<month3_local_rn_minVal>20</month3_local_rn_minVal> 3ME XY L Ol SHEX )
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> IME XY L= o2 ZE(H[%)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> Y XY 24 o R 2HE(R2)
</month_local_rn> e XY Z=NY EfaF
</local_rn> Z+HA XY a3
<local_rn> ZY X9 EfA|E
<local_rn_name><![CDATA[ CHHE - M|T « ZHY T ]]></local_rn_name> PAES S 1= 1apNe:Ige:]
<month_local_rn> DY XY ZHY Ef A=
<monthl_local_rn_normalYear>30.7 </month1_local_rn_normalYear> HE XY 24 WEgt
<month1_local_rn_similarRange>+25</month1_local_rn_similarRange> HE XY 24 HWEH|=HY
<monthl_local_rn_minVal>40</month1_local_rn_minVal> HE X9 24 o2 =2EEFe)
<month1_local_rn_similarVal>40</month1_local_rn_similarVal> 7HE XY 24 o2 =EH[=x)
<monthl_local_rn_maxVal>20</month1_local_rn_maxVal> HE XY 24 o2 =E(He)
</month_local_rn> U XY Z+dY O3 =
<month_local_rn> 270 e K|S 2= B AR
<month2_local_rn_normalYear>49.4</month2_local_rn_normalYear> 270 XY 2 mEgh
<month2_local_rn_similarRange>+20</month2_local_rn_similarRange> 270E XY Z4 Hud|=we
<month2_local_rn_minVal>40</month2_local_rn_minVal> 270 XY A o2 S2HEES)
<month2_local_rn_similarVal>40</month2_local_rn_similarVal> 270 XY 24 o5 ZEH|X)
<month2_local_rn_maxVal>20</month2_local_rn_maxVal> 270 XY 44 oe =ER2)
</month_local_rn> 270E X|d 2Ny AT =
<month_local_rn> IE XY BNy EfOA|E
<month3_local_rn_normalYear>70.5</month3_local_rn_normalYear> 4 XY A4 W)
<month3_local_rn_similarRange> +15</month3_local_rn_similarRange> IME XY 24 HUEH|SH
<month3_local_rn_minVal>20</month3_local_rn_minVal> I4E XY 24 o2 =HEEFE)
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> I74E XY 24 o2 =HEH|R)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> I4E XY 24 o2 EHEES)
</month_local_rn> e XY Z=NY Ef T
</local_rn> Z+HA XY a3
<local_rn> e XY Ef AR
<local_rn_name> <![CDATA[ S E & ]]></local_rn_name> 2o X9 9
<month_local_rn> VR XY Z=HY Ef A=
<monthl_local_rn_normalYear>31.4</month1_local_rn_normalYear> NE XY 24 gt
<month1_local_rn_similarRange>+25</month1_local_rn_similarRange> NE XY 24 Ed| ="
<month1_local_rn_minVal>40</month1_local_rn_minVal> He X9 Z 0B 25 F2)
<month1_local_rn_similarVal>40</month1_local_rn_similarVal> 7HE XY 24 o2 SEH|X)
<month1_local_rn_maxVal>20</monthl_local_rn_maxVal> He X9 2 o2 ZE(R2)
</month_local_rn> Uig XY MY Bl0s =
<month_local_rn> 2703 XY 2= B IA|E
<month2_local_rn_normalYear>50.7</month2_local_rn_normalYear> 2708 XY - G
<month2_local_rn_similarRange>+15</month2_local_rn_similarRange> 2708 XY Z HEH|=HQ
<month2_local_rn_minVal>40</month2_local_rn_minVal> 270 XY 44 oe SEES)
<month2_local_rn_similarVal>40</month2_local_rn_similarVal> 270 XY 44 o5 ZEH|X)




<month2_local_rn_maxVal>20</month2_local_rn_maxVal> 2708 X9 2= o2 SE(HS)
</month_local_rn> 270 XY ZHY OB E
<month_local_rn> IE XY BNy Ef A=
<month3_local_rn_normalYear>71.4</month3_local_rn_normalYear> INE XY 24 WAt
<month3_local_rn_similarRange> +15</month3_local_rn_similarRange> I70E K|S 24 WEH|=H
<month3_local_rn_minVal>20</month3_local_rn_minVal> 3ME XY L5 Ol SHEX )
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> IME XY L= OB ZE(H%)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> Y XY 24 o 2HE(R2)
</month_local_rn> IiE XY Z=NY EfaF
</local_rn> Z+HMA XY a3
<local_rn> ZY X9 EfIA|E
<local_rn_name><![CDATA[ &Z - MBI 11> </local_rn_name> PAES S L= TaNe:ge:]
<month_local_rn> UHE XY 2=y Ef A=
<monthl_local_rn_normalYear>46.4</month1_local_rn_normalYear> HE XY 24 WEgt
<month1_local_rn_similarRange>+20</month1_local_rn_similarRange> HE XY 24 HEH|=H Y
<monthl_local_rn_minVal>30</month1_local_rn_minVal> HE XY 24 o2 =25 EFS)
<month1_local_rn_similarVal>50</month1_local_rn_similarVal> 7HE X9 24 o2 =EH=x)
<monthl_local_rn_maxVal>20</month1_local_rn_maxVal> HE X9 24 o2 =E(EHe)
</month_local_rn> U XY Z+dY a2
<month_local_rn> 270 e K|S Z=Ha B AR
<month2_local_rn_normalYear>74.1</month2_local_rn_normalYear> 270 XY 2 mEgh
<month2_local_rn_similarRange>+15</month2_local_rn_similarRange > 270 XY Z+ BAH|HL
<month2_local_rn_minVal>30</month2_local_rn_minVal> 270 XY A o& S2HEES)
<month2_local_rn_similarVal>50</month2_local_rn_similarVal> 270 XY 24 o5 ZEH|X)
<month2_local_rn_maxVal>20</month2_local_rn_maxVal> 270 XY 44 o2 =E(R2)
</month_local_rn> 270E X9 2Ny T2
<month_local_rn> IE XY BNy Ef A=
<month3_local_rn_normalYear>99.6</month3_local_rn_normalYear> N XY A4 W)
<month3_local_rn_similarRange>+10</month3_local_rn_similarRange> IME XY 24 HUEH|SH
<month3_local_rn_minVal>20</month3_local_rn_minVal> I4E XY 24 o2 EHEEHE)
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> I74E XY 24 o2 =HEH|R)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> I0E XY 24 o2 =HEES)
</month_local_rn> 7MY XY ZHY A=
</local_rn> Z+HA XY a3
<local_rn> e XY Ef AR
<local_rn_name><![CDATA[ ™22 & ]]></local_rn_name> pAE S L gN]e: ]
<month_local_rn> VR XY 2=y Ef A=
<monthl_local_rn_normalYear>39.9</month1_local_rn_normalYear> HE XY 24 gt
<month1_local_rn_similarRange>+20</month1_local_rn_similarRange> HE XS 24 HUEH|SH Y
<month1_local_rn_minVal>30</month1_local_rn_minVal> HE X9 24 o2 SEEFS)
<month1_local_rn_similarVal>40</month1_local_rn_similarVal> 7HE X9 24 o2 EEH|X)
<month1_local_rn_maxVal>30</monthl_local_rn_maxVal> He X9 2 o2 ZE(R2)
</month_local_rn> Uig XY Z4MY Bl 0s =
<month_local_rn> 2708 K| 2= B AR
<month2_local_rn_normalYear>52.8</month2_local_rn_normalYear> 2708 XY - G
<month2_local_rn_similarRange>+15</month2_local_rn_similarRange> 2708 XY Z HEH|=HQ
<month2_local_rn_minVal>30</month2_local_rn_minVal> 270E XY 24 o2 ESEEY)
<month2_local_rn_similarVal>50</month2_local_rn_similarVal> 270 XY 44 o5 ZEH|X)
<month2_local_rn_maxVal>20</month2_local_rn_maxVal> 270E XY 24 o2 2SEED)
</month_local_rn> 2708 XY MY AT E




<month_local_rn> 3IME XY Z==TY Ef AR}
<month3_local_rn_normalYear>75.4</month3_local_rn_normalYear> INE XY 24 WAt
<month3_local_rn_similarRange> +15</month3_local_rn_similarRange> I70E K|S 24 WEH|=H S
<month3_local_rn_minVal>20</month3_local_rn_minVal> 3ME XY L Ol SHEX )
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> IME XY L OB =E(Hx)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> Y XY 24 o 2HE(RH2)
</month_local_rn> iE XY Y OB E
</local_rn> Z+HA XY a3
<local_rn> ZY X9 EfIA|E
<local_rn_name> <![CDATA[ At . &4k AAE T ]]></local_rn_name> PAES S 1= TapNe:Ige:]
<month_local_rn> UHE XY 2=y Ef A=
<monthl_local_rn_normalYear>43.4</month1_local_rn_normalYear> N XY 24 WAt
<month1_local_rn_similarRange>+20</month1_local_rn_similarRange> HE XY 24 HEdH|=/ S
<month1_local_rn_minVal>30</month1_local_rn_minVal> HE XY Z5 o2 SHEX )
<month1_local_rn_similarVal>50</month1_local_rn_similarVal> 7HE XY 24 o2 =EH=x)
<monthl_local_rn_maxVal>20</month1_local_rn_maxVal> HE XY 24 o2 =E(He)
</month_local_rn> U XY Z+dY a2
<month_local_rn> 270 e K|S 2= B AR
<month2_local_rn_normalYear>68.2</month2_local_rn_normalYear> 270 XY 2 WA
<month2_local_rn_similarRange>+15</month2_local_rn_similarRange> 270E XY 24 Hud|=He
<month2_local_rn_minVal>30</month2_local_rn_minVal> 270 XY 4 oe =2EES)
<month2_local_rn_similarVal>50</month2_local_rn_similarVal> 270 XY 24 o5 ZEH|X)
<month2_local_rn_maxVal>20</month2_local_rn_maxVal> 270 XY 44 o2 =E(R2)
</month_local_rn> 270E X9 2Ny T2
<month_local_rn> 70 XY ZH Y Ef A=
<month3_local_rn_normalYear>102.7 </month3_local_rn_normalYear> 4 XY A4 WGt
<month3_local_rn_similarRange>+10</month3_local_rn_similarRange> IME XY 24 HUEH|SH Y
<month3_local_rn_minVal>20</month3_local_rn_minVal> I4E XY 24 o2 EHEEHE)
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> I74E XY 24 o2 =HEH|X)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> I4E XY 24 o2 EHEES)
</month_local_rn> 7MY XY ZHY BTS2
</local_rn> Z+He XY a3
<local_rn> e XY Ef AR
<local_rn_name> <![CDATA[ CHF* - AAME & ]]></local_rn_name> 2o X9 9
<month_local_rn> UHE XY 2=y Ef A=
<monthl_local_rn_normalYear>31.8</month1_local_rn_normalYear> HE XY 24 gt
<month1_local_rn_similarRange>+30</month1_local_rn_similarRange > UHE XY 25 HAH|HS
<monthl_local_rn_minVal>40</month1_local_rn_minVal> HE X9 24 o2 =25 FS)
<month1_local_rn_similarVal>40</month1_local_rn_similarVal> 7HE X9 24 o2 EEH=x)
<month1_local_rn_maxVal>20</monthl_local_rn_maxVal> He X9 2 o2 ZE(R2)
</month_local_rn> Uig XY Z4MY Bl 0s=
<month_local_rn> 2708 K| 2= B AR
<month2_local_rn_normalYear>50.6</month2_local_rn_normalYear> 2708 XY s A
<month2_local_rn_similarRange>+15</month2_local_rn_similarRange> 2708 XY Z HEH|=HQ
<month2_local_rn_minVal>30</month2_local_rn_minVal> 270E XY 24 o2 ESEEY)
<month2_local_rn_similarVal>40</month2_local_rn_similarVal> 270 XY 24 o5 =EH|X)
<month2_local_rn_maxVal>30</month2_local_rn_maxVal> 270E XY 24 o2 SEED)
</month_local_rn> 2708 XY MY AT E
<month_local_rn> 70 XY A=Y Ef AR
<month3_local_rn_normalYear>67.9</month3_local_rn_normalYear> INE XY 2 gk




<month3_local_rn_similarRange>+15</month3_local_rn_similarRange> MY XY 24 WEd| e
<month3_local_rn_minVal>20</month3_local_rn_minVal> 3ME XY L5 Ol SHEX )
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> MY XY L= OB =EH[=%)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> Y XY 24 o 2HE(R2)
</month_local_rn> IiE XY Z=NY EfaF
</local_rn> Z+HMA XY a3
<local_rn> ZY X9 EfIA|E
<local_rn_name> <![CDATA[ H|Z & ]]></local_rn_name> PAS S LN ]e: ]
<month_local_rn> UHE XY 2=y Ef A=
<month1_local_rn_normalYear>69.9</month1_local_rn_normalYear> N XY 24 WAt
<month1_local_rn_similarRange>+15</month1_local_rn_similarRange> HE XY 24 WEdH| =/
<month1_local_rn_minVal>20</month1_local_rn_minVal> HE XY 45 o2 SHEX )
<month1_local_rn_similarVal>50</month1_local_rn_similarval> HE XY 2= o2 Z&(H=%)
<month1_local_rn_maxVal>30</month1_local_rn_maxVal> He XY 24 o2 2E(%H2)
</month_local_rn> U XY Z+dY B2
<month_local_rn> 270 XY 2 A E
<month2_local_rn_normalYear>109.9</month2_local_rn_normalYear> 270 XY 2 mEgh
<month2_local_rn_similarRange>+15</month2_local_rn_similarRange> 270E XY Z4 Hud|=we
<month2_local_rn_minVal>20</month2_local_rn_minVal> 270 XY 4 o& E2HEES)
<month2_local_rn_similarVal>40</month2_local_rn_similarVal> 270 XY 24 o5 ZEH|X)
<month2_local_rn_maxVal>40</month2_local_rn_maxVal> 270 XY 44 o2 =E(R2)
</month_local_rn> 270E X9 2Ny T2
<month_local_rn> 70 XY ZH Y Ef A=
<month3_local_rn_normalYear>132.3</month3_local_rn_normalYear> 4 XY A4 WGt
<month3_local_rn_similarRange>+10</month3_local_rn_similarRange> 3I7ME XY 2 HUEH|=HE
<month3_local_rn_minVal>20</month3_local_rn_minVal> I4E XY 24 o2 =HEEHE)
<month3_local_rn_similarVal>30</month3_local_rn_similarVal> 70E XY 24 o2 =HEH|R)
<month3_local_rn_maxVal>50</month3_local_rn_maxVal> I4E XY 24 o2 EHEES)
</month_local_rn> 7MY XY ZHY BTS2
</local_rn> Z+He XY a3
<local_rn> e XY Ef AR
<local_rn_name><![CDATA[ WotHE = . 238 = ]]></local_rn_name> pAE S L gN]e: ]
<month_local_rn> VR XY Z=HY Ef A=
<monthl_local_rn_normalYear>14.1</month1_local_rn_normalYear> HE XY 24 gt
<month1_local_rn_similarRange>+25</month1_local_rn_similarRange> HE XY 24 HEH|SH Y
<monthl_local_rn_minVal>30</month1_local_rn_minVal> e X9 24 o2 =25 Fe)
<month1_local_rn_similarVal>50</month1_local_rn_similarVal> 7HE X9 24 o2 =EH|=x)
<monthl_local_rn_maxVal>20</month1_local_rn_maxVal> HE X9 24 o2 &E(EHe)
</month_local_rn> VY XY Z+dY BlOF=
<month_local_rn> 2703 XY 2= B IA|E
<month2_local_rn_normalYear>24.5</month2_local_rn_normalYear> 2708 XY - A
<month2_local_rn_similarRange>+15</month2_local_rn_similarRange> 2708 XY Z HEH|=HQ
<month2_local_rn_minVal>40</month2_local_rn_minVal> 270 XY 44 oe SEES)
<month2_local_rn_similarVal>40</month2_local_rn_similarVal> 270 XY 24 o5 =EH|X)
<month2_local_rn_maxVal>20</month2_local_rn_maxVal> 270E XY 24 o2 SEED)
</month_local_rn> 2708 XY MY S E
<month_local_rn> 70 XY 2= EfOAIE
<month3_local_rn_normalYear>49.4</month3_local_rn_normalYear> INE XY 2 gk
<month3_local_rn_similarRange>+15</month3_local_rn_similarRange> I70E XY 2 HUEH|=/ S
<month3_local_rn_minVal>20</month3_local_rn_minVal> MY XY L OB ZHEEH)




<month3_local_rn_similarVal>40</month3_local_rn_similarVal> MY XY L o2 ZEH%)
<month3_local_rn_maxVal>40</month3_local_rn_maxVal> 3ME XY L4 o2 SHE(ELS)
</month_local_rn> 4 XY Z4eMA Ejlass
</local_rn> 24 XY Ef 152
<local_rn> Z4Mak X| S Ef A E
<local_rn_name> <![CDATA[ &t AHE & ]]></local_rn_name> PAES S 1= TapNe:Iye:]
<month_local_rn> NS XY Z4=Ma Ef AR
<month1_local_rn_normalYear>13.6</monthl_local_rn_normalYear> N XY 24 Wt
<month1_local_rn_similarRange>+35</month1_local_rn_similarRange> HE XY Z4 WEH|=H 9
<month1_local_rn_minVal>30</month1_local_rn_minVal> HE XY Z5 o2 SHEX )
<month1_local_rn_similarVal>50</month1_local_rn_similarval> g XY 2= o2 =&(H|=%)
<month1_local_rn_maxVal>20</month1_local_rn_maxVal> HE XY 2= o2 2S5(%H2)
</month_local_rn> N XY Z4Mad Ejlass
<month_local_rn> 270E XY Z4=m A EfIA|E
<month2_local_rn_normalYear>20.4</month2_local_rn_normalYear> 270 XY 2 mEg
<month2_local_rn_similarRange>+25</month2_local_rn_similarRange > 270 XY Z+ BAH|HE
<month2_local_rn_minVal>40</month2_local_rn_minVal> 270E XY 24 o2 SEEY)
<month2_local_rn_similarVal>40</month2_local_rn_similarVal> 270 XY 24 o5 ZEH|X)
<month2_local_rn_maxVal>20</month2_local_rn_maxVal> 270E X9 2 oe SEES)
</month_local_rn> 2708 X|o ZaMa OS2
<month_local_rn> 37 K| Z=Mak Ej AR
<month3_local_rn_normalYear>44.1</month3_local_rn_normalYear> 4 XY A4 WGt
<month3_local_rn_similarRange>+20</month3_local_rn_similarRange> MY XY Z4 WEH|=H Q)
<month3_local_rn_minVal>20</month3_local_rn_minVal> INE XY = OB ESER)
<month3_local_rn_similarVal>40</month3_local_rn_similarVal> I74E XY 24 o2 =HEH[x)
<month3_local_rn_maxVal>40</month3_local_rn_maxVal> INE XY 2 o2 EE(RS)
</month_local_rn> 30 XY Z4eMa |las2
</local_rn> Z4Ma X9 | as2
</threemonth_rn_forecast> X|oidy 370 Z4 Mot e E2
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